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NES—EREH &5 — 27,913 27,913
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3 A F A X M &£ 2,100 388 2,488
4 B OH B X F £ 19,000 A 1,210 17,790
5 HALBERSIXRSE 25000 A 1,830 23,170
6 EABFEXEBRXIfMFE 116,000 690 116,690
7 MAHEBRIMGE 500,000 96,701 596,701
8 BEMRIAXIMNE 7,000 A 578 6,422
9 M A KBl X & 92,349 0 92,349
10 #1 A X fF | 1 79 80
11 RXBEREREHEINX AR 3,900 A5 3,825
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20 &% 1 A 67,431 0 67,431
21 HT ' 85,500 0 85,500
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4 @ % Z 827,281 0 827,281
5 % & 7 2,553 0 2,553
6 = M K E ¥ & 55,869 0 55,869
7 B I = 209,161 0 209,161
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9 H ;] 7 301,232 0 301,232
10 #% ] 7 1,188,890 0| 1,188,890
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12 2 & 7 541,493 0 541,493
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